ENGLISH

18 451

2

R T————

66 o=

;::: I\
‘o .ﬁgﬂqmﬁ—

EQMRIEEAER

55 545040 0 i A
1~4 AR I 5

K3 38 T A2 AR At




ARFRBB/IECO=R—4K”

HMEE — dREREERER
SEWRBY, - 1~4 REvl 4

F & Ok R AR

BlEHR % Kk Fpote

% £ 2 o T & mMui
A B L )k K M
FmE £ 2 B R

TR S RE WY T



e

ST, e AT 0T AR TR ke R

E e g

MRERY.TEE
EB RS (CIP) ¥ 18

KFRBEHEC Z A —FK"/KR BT FH. — K
R EE TR AR, 1998. 8
ISBN 7-5611-1526-1

LR 105K D8 T.%E-FEHY 5%
¥R-HESERR V.H319. 4

hERAEHE CIP 5EBZF (985 21596 &

K B T K ¥ AL IR 47T
CRHERE K A B 4 116024)
K % 6D ) ED B

FFA 78T <1092 X 1716 FH339 T Bk 1475

EN ¥ 1-- 3000 A

1998 8 HE 1 MK 1968 4E 8 FI %55 1 W Ep I
HirRE. THE F TR R ®

ofiiRas e /L ] (7O S S I N

GEMT 12,50 JC(RE 4 BHE .50, 00 58D



» j’. | N
e
O o L VN i e e e a S e e H ’ ——

(RERBREZA-F)AH R RERHKE 1998 FHN(KF XE
BEAFF(AFREFEARERAFDDNWER, HEAAFEE"REEAM
(BITR)KFELEWUATHE Ho

AR FEFERFTNFETF I T E, T THALNET A8, RIEK
FEEBREHEMN (1 ~4)FF— RN E K ORI R ME S 4
RERAREBETFINELRARE T AHTERSAN (W F L FH=
R, AR ATHEFARERBBERAFEBEALERNELX, RONL
EREL EE EABREMRETHE EHTENTT HREAAEE
URFTRAGEHBEREE AR BNE SRR FZ(DH L ¥
W —%"). '

“CZRGEHMRT AL NEREE

—— % Bt 26 B AR % B8 3R A T 4R B0, R I RO M AR IR LR X
W XE BRI 5 RIS T LR R T R WS R R BT
AEBEE

— A RXFHANELELARAUEE TN, A —RIRXE k&
HEREEN - RIERHEEZEMEEGIIL R, REFAT HEIHMHE
25 AREZRWBAFBANE" P, HUAEERABERE T LERE
o

—ERREAE FATURTRATAT , RAEZHHEEHTE S
BEERARANERE REHATABLIAREIAZ FEREHCHES
R A HTASEMERET AFHEBFEAEE XN SHAE, Tk, ¥
EESMEAEERANFIZERELS RENREARLETHEAY, v EF T
AEEZRBRHETTT BLAm, PR ZEFRANBASIHFRS, AL EF
BRFo

KAFAFBUNE AL REINALEERFAHBE, F=
5 VA BT B X, R M S A R A AT



FAEMRG BE, TABLETERAATARE RMB R, ¥ Y% 6
TS PORERB N E SR, AFHEN A AR, EUETROTT, UEE
FRETAMAEAR S S ERAN, FEFPRFETAMRTE ., YR, KF
RBHNFELTURT A AR EARE, AEHB I AEE R A MR
CETERBATEHM

ARFERTHRAARFE, FRKFEIE" LI FE & T U kM
RUAMAIPRELT; ERA L AN FETUR LI ARE RN EE R
I %o

ALABERFEESWERE X EEFLR FARBERFTRAEN
FHERNE L HTAEFARRENRART O A WA KB, X UE 5%
AREEFWEFEEISEH, X TRAEAAFREZE " FE %
AEMNEE AL EIRER BT A AR AR FER, &1
FRFL) KRFEMBTEER AL S SR PR B2 HE LAY,

W
1998 4 8 A



CONTENTS

0}
Unit One A BRUSH WITH THE LAW
ERERESR
Sk T AN
Unit Two THE WOMAN WHO WOULD NOT TELL +++++-seeees
BRUSEER
BBV LEEIREEEAR v vvevreveevresreessnennieseanns

UFISTEARIE coeoemeeeeeenmnonnenes
Unit Three WHY I TEACH

il

B RILUINGE o veevereemeeees
BEBILNEDZESEERR o ooorererrreeneneneeenns
BT ISTEARI v oo eemmrrmnnnenenneenrieis o

Unit Four LADY HERMITS WHO ARE DOWN BUT NOT QUT seeeereeccrecincenn

BATEAIBEE creoveeeererees
B BILUNGE - oooverveeoenes
ASBILNEEZEEEEER v eoeerereeernennnnn
Unit Five THE DAY MOTHER CRIED
M ATIB IR vovvrvvvrrrvrennmnnnsnierenneanes

RTBIIIGERSER
Uipab &2 g
Unit Six A DAY’S WAIT
ERERBER
B4 @4 U %k
RPBLNEER SBRE
Unit Seven THE SHELTER

BREREER

+ 24

< 24

« 25
vee 37
ceeen 44
© 46

- 46
<17

- 66
- 69
69
+ 70
- 83
e 90
+ 93

. . R RmmmnmIInnmm I 93

< 107
- 114
« 116
+ 116
< 117
- 130
136
- 139
< 139

94



825 38 4 Uil 2k
AYallGFESR5EE
Uipabra= 2 ol

Unit Eight DAYDREAM A LITTLE
ERERIEES
B @I
BHBULNGERSER
ROXFHH

Unit Nine THE DEATH OF HITLER -+
EREREBER
@ @S
R BVNGERSER
WHXFHH

Unit Ten THE FANTASTIC SPURT IN TECHNOLOGY :+-«eeveee

ERERIBER
@5 B IL
B BULNEERSER
FNXFHH

© 140
© 153
© 159
- 162
© 162
© 163
£ 175
- 182
£ 185
- 185
- 186

198

- 204

ceee 207

.+ 207
+ 208

s 221

- 227



Unit One

A BRUSH WITH THE LAW

—:
E:\\\X&/\\\ D

(i3]

apologize vi. & #k , 14 ¢ dward vt. |4 8F

circumstance n. &, corﬁ‘blain vi. #LE

confirm vt. JE3Z; #iA due a. FHIM;AENBIHK

guilty a. HIEH; RIKH obvious a. BHE M, E M5 L

regard vt. HB------ BB K respectable a. {H18 B # /Y

subsequent a. BEEHIET EHM wander vi. WA ;& %

arbitrary a. {EE &), RUFH casual a. BAZLH ,FEN

commit . F RHE), B GER.TB) conduct vt. #b¥E; ¥ 4%;3|1 % ;¥
dismiss vt. BE[E] , X e eee N F 2 3H given prep. BRI RE

meanwhile ad. [&]#f process n. 38 ; %l 4E %

reliable a. T REK, W {EHH revolve v. (ff) g%

temporary a. B K8

[x=i5]

take sb. to court XfH AREIFIL turn out R IFHE

a couple of ¥, JL(AN) 5 —3t call on Ek

save up fEE stand a chance B &, FHE

take one’s time 1€M@ ¥ , NE A revolve around  #g«e-+-- BEE S LLeseees F e
at first &4 turn against () R X} =4 &30 8
[Estsiommag]

1. SREEERE

Given the obscure nature of the charge, I feel sure that if T had come, from a

different background, and had really been unemployed, there is every chance that
I would have been found guilty. (Line 59)

MM EIEEN XM REZOMERE REE NERESES —HERNE
ERE FHREATUMIE REETEREBHATE.

2. ERAn

It turned out (that)... FEXRE; &R E;IEHE




It turned out there had been a lot of petty theft in the area, particularly that of stealing

milk bottles from doorsteps. (Line 29)
HEREERIEMN, X — X EB XA E/ NI G E 55502 M ITAT L 4 95X R
WHER.
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Part 1 Listening Comprehension

Directions: In this section, you will hear 5 short conversations. At the end of each

Example:

conversation, a question will be usked about what waus said. Both the conversation
and the question will be spoken only once. After each question there will be u
pause. During the pause, you must read the four suggested choices marked A),
B)sC)Y and D), and decide which is the best unswer.
You will hear:
You will read .
A) At the of fice. B) In the waiting room.
C) At the airport D) In a restaurant.
From the conversation we know that the two were talking about some work they had
to finish in the evening. This is most likely to have taken place at the office.

Therefore, A) “At the of fice” is the best answer.

1. A) The subway is on the corner.
B) The subway is in the middle of the 18th block.

C) The subway is not far from here.

D) The subway is just across the street.

2. A) At the railway station. B) At the bank.
C) At the check-in counter. D) At the hotel.
3. A) Ac 0. B) After 7.
C) At 10:15. D) At 7.
4. A) Summer. B) The whole year except summer.
C) Fall, winter and spring. D) Four seasons.
5. A) ltalian. B) English.
C) halian grammar. D) Both English and halian.
Section B

Directions: In this section, you will hear 2 short passages. At the end of each pussage, you

will hear some questions. Both the pussage and the questions will be spoken only
once. After vou hear a questions you must choose the best answer from the Jour

choices marked ), B),C) and D).



Passage One

6. A) They have stopped carrying out any activities.
B) They have gone to the swimming pool.
(©) They have kept quict.
D) They went to sleep early.

7. A) 5,000 metres. B) 40,000 metres.
) 10,000 metres. 1)) 15,000 metres.

Passage Two

8. A) Saving food for the next meal. B) Keeping food {rom spoiling.
C) Avoiding being stuffed or starved. D) Eating food at any time.

9. A) Leaving food in the sun. B) Keeping food in a refrigerator.
() Leaving food by fire. D) Preserving {ood with salt.

10. A) To dry food. B) To cook food.
) To use salt. D) Not mentioned.

Section C  Compound Dictation

Directions: In this section. you will hear a passage three times. When the passage is read Jfor
the first time, you should listen care fully for its general idea. Then listen to the
passage again. When the passage is read for the second time, you are required to
Jill in the blanks numbered from 11 to 17 with the exact words you have just
heard. For blanks numbered from 18 to 20 you are required to [fill in the missing
information. You can either use the exact words you have just heard or write
down the muin points in your own words. Finally. when the passage is read for

the third time, you should check what vou have written.

Until the 1970s, most American car (11)  wanted full-size cars. For them,
the bigger the car, the better. For (12)  thirty years, the United States car
makers were leaders in the big car (13) . To many Americans, the big car was a
sign of (14) position. It was a sign of power, (15)  and easy movement
from place to place. In the same (16)  of time in Europe, Japan and most other
countries, smaller cars were the first choice of the (17) . Suddenly, in October

1973, Arab oil producers cut off oil exports to the United States. (18)

The United States car makers have now learned {rom the Japanese car makers

and arc making high changes. (19)

The future of the American car industry 2o

Part K Reading Comprehension

Directions : There are four passages in this part. Each passage is followed by some questions

03-



or unfinished statements. For each of them there are four choices marked A),B),
C) and D). You should choose the best answer to each question.
Questions 21 to 25 are based on the following passage:

Just seven years ago, the Jarvik-7 artificial heart was being cheered as the model of
human creativeness. The sight of Barney Clark—alive and conscious after trading his
diseased heart for a metal-and-plastic pump—convinced the press, the public and many
doctors that the future had arrived. It hadn’t. After monitoring production of the Jarvik-7,
and reviewing its effects on the 150 or so patients (most of whom got the device as a
temporary measure) the U. S. Food and Drug Administration concluded that the machine
was doing more to endanger lives than to save them. Last week the agency cancelled its
earlier approval, effectively banning (%t i) the device.

The recall may hurt Symbion Inc, maker of the Jarvik-7, but it won’t end the request
for an artificial heart. One problem with the banned model is that the tubes connecting it to
an external power source created a passage for infection. Inventors are now working on new
devices that would be fully placed, along with a tiny power pack, in the patient’s chest.
The first sample products aren’t expected for another 10 or 20 years. But some people are
already worrying that they’ll work—and that America’s overextended health-care programs
will lose a precious $ 2. 5 billion to $ 5 billion a year providing them for a relatively few
dying patients. If such expenditures cut into funding for more basic care, the net effect
could actually be a decline in the nation’s health.

21. According to the passage the Jarvik-7 artificial proved to be

A) a good life-saver B) a technical wonder

C) a technical failure D) an effective means to treat heart disease
22. From the passage we know that Symbion Inc

A) has been banned by the government from producing artificial hearts

B) will review the effects of artificial hearts before designing new models

C) may continue to work on new models

D) can make new models of artificial hearts available on the market in 10 to 20 years
23. The new models of artificial hearts are expected

A) to have a working life of 10 or 20 years

B) to be set {ully in the patient’s chest

C) to be equipped with an external power source

D) to create a new passage for infection
24. The word “them” (Line 7, Para. 2) refers to _ o

A) doctors who treat heart diseases B) new models of artificial hearts

{:) America’s health-care programs [D) makers of artificial hearts
25. Some people feel that
A) artificial hearts are seldom elfective

L )



B) the country is not spending enough money on artificial hearts

C) the country should not spend so much money on artificial hearts

D) America’s health-care programs are not doing enough for the nation’s health
Questions 26 to 30 are based on the following passage:

What exactly is a lie? Is it anything we say which we know is untrue? Or is it
something more than that? For example, suppose a friend wants to borrow some money
from you. You say “I wish I could help you but I’m short of money myself. ” In f{act, you
are not short of money but your friend is in the habit of not paying his debts and you don’t
want to hurt his feelings by reminding him of this. Is this really a lie?

Professor Jerald Jellison of the University of Southern California has madec a scientific
study of lying. According to him, women are better liars than men, particularly when
telling a “white lic”. such as when a woman at a party tells another woman that she likes
her dress when she really thinks it looks awful. However, this is only one side of the story.
Other researchers say that men are more likely to tell more serious lies, such as making a
promise which they have no intention of fulfilling. This is the kind of lie politicians and
businessmen are supposed to be particularly skilled at: the lie from which the liar hopes to
profit or gain in some way.

Rescarch has also been done into the way people’s behaviour changes in a number of
small, apparently unimportant ways when they lie. It has been found that if they arc sitting
down at the time, they tend to move about in their chairs more than usual. To the trained
observer they are saying “1 wish 1 were somewhere else now.” They also tend to touch
certain parts of the face more often, in particular the nose. One explanation of this may be
that lying causes a slight increase in blood pressure. The up of the nose is very sensitive to
such changes and the increased pressure makes it itch.

Another gesture which gives liars away is what the writer Desmond Morris in his book
Manwatching calls “the mouth cover”. He says there are several typical forms of this, such
as covering part of the mouth with the fingers, touching the upper-lip or putting a finger of
the hand at one side of the mouth. Such a gesture can be understood as an unconscious
attempt on the part of the liar to stop himself or herself from lying.

Of course, such gestures as rubbing the nose or covering the mouth, or moving about
in a chair cannot be taken as proof that the speaker is lying. They simply tend to occur more
frequently in this situation. It is not one gesture alone that gives the liar away but a whole
number of things, and in particular the context in which the lie is told.

26. According to the passage, a “white lie” seems to be a lie

A) that other people belicve

B) that other people don’t believe

C) told in order to avoid offending someone

D) told in order to take advantage of somecone

.
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27. Research suggests that women

A) are better at telling less serious lies than men are

B) generally lie far more than men do

C) often make promises they intend to break

D) lie at parties more often than men do
28. Researchers find that when a person tells lies

A) his blood pressure increases measurably

B) he looks very serious

C) he tends to make some small changes in his behaviour

D) he uses his unconscious mind
29. One reason people sometimes rub their noses when they lie is that

A) they wish they were somewhere else

l}) the nose is sensitive to physical changes caused by lying

C) they want to cover their mouths

D) they are trying to stop themselves from telling lies
30. Which of the following may best betray a liar?

A) The touching of the tip of one’s nose.

B> The changes of one’s behaviour.

C) “The mouth cover” gesture.

D) The circumstances in which his lie is told.

Questions 31 to 35 are based on the following passage:

There are two types of people in the world. Although they have equal degrees of health
and wealth and the other comforts of life, one becomes happy, the other becomes miserable.
This arises from the different ways in which they consider things, persons, and events, and
the resulting effects upon their minds. ‘

The people who are to be happy fix their attention on the conveniences of things, the
pleasant parts of conversation, the well-prepared dishes, the goodness of the wines, the {ine
weather. They enjoy all the cheerful things. Those who are to be unhappy think and speak
only of the contrary things. Therefore, they are continually discontented. By their
remarks, they sour the pleasures of society, offend many people, and make themselves
disagreeable everywhere. If this turn of mind were founded in nature, such unhappy persons
would be the more to be pitied. The tendency to criticize and be disgusted is perhaps taken
up originally by imitation (#4}5). It grows into a habit, unknown to its possessors. The
habit may be strong, but it may be cured when those who have it are convinced of its bad
effects on their interests and tastes. 1 hope this little warning may be of service to them, and
help them change this habit.

Although in fact it is chiefly an act of the imagination, it has serious consequences in
life, since it brings on deep sorrow and bad luck. Those people offend many others, nobody
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loves them, and no one treats them with morc than thc most common politeness and
respect, and scarcely that. This frequently puts them in bad temper and draws them into
arguments. If they aim at obtaining some advantage in rank or fortune, nobody wishes
them success. Nor will anyone stir a step or speak a word to favor their hopes. If they bring
on themselves public disapproval, no one will defend or excuse them, and many will join to
criticize their misconduct. These people should change this bad habit and condescend (fff 8¢ )
to be pleased with what is pleasing, without worrying needlessly about themselves and
others. If they do not, it will be good for others to avoid any contact with them.
Otherwise, it can be disagreeable and sometimes very inconvenient, especially when one
becomes mixed up in their quarrels.
31. People who are unhappy

f‘\/) always consider things differently from others

B) usually are influenced by the results of certain things

C) can discover the unpleasant part of certain things

D) usually have a fault-finding habit
32. The phrase “sour the pleasures of society” (line 9) most nearly means

A) “have a good taste to the pleasures of society”

B) “aren’t content with the pleasures of society”

C) “feel happy with the pleasures of society”

D) “enjoy the pleasures of society”
33. Which of the following statements in NOT true according to the passage?

A) We should pity all such unhappy people.

B) Such unhappy pcople are critical about everything.

C) 1f such unhappy people recognize the bad effects of the habit on themselves they may

get rid of it.

D) Such unhappy people arc also not content with themselves.
34. “scarcely that” (line 19) means ]

A) “"just like that” B) “almost not like that”

C) “more than that” D) “not at all like that”
35. If such unhappy persons don’t change their bad behavior, the author’s solution to the

problem is that

A) people should avoid contact with them

B) people should criticize their misconduct

9) people should help them recognize the bad effects of the habit

D) people should show no respect and politeness to them
Questions 36 to 40 are based on the follmoing passage :

Motorways are, no doubt, the safest roads in the country. Mile {or mile, vehicle for
vehicle, you are much less likely or seriously injured than on an ordinary road. On the other

e 7



hand, if you do have a serious accident on a motorway, fatalities are much more likely to
occur than in a comparable accident elsewhere on the roads.

Motorways have no sharp bends, no roundabouts or traffic lights and thus speeds are
much greater than on other roads. Though the 70 m. p. h. limit is still in force, it is often
treated with the contempt that most drivers have for the 30 m. p. h. limit applying in built
up areas in Britain. Added to this is the fact that motorway drivers seem to like travelling in
convoys with perhaps barely ten metres between each vehicle. The resulting horrific pileups
(involving maybe a hundred vehicles) when one vehicle stops for some reason—mechanical
failure, driver crror and so on—have become all too familiar through pictures in newspapers
or on television. How many of these drivers realize that it takes a car about one hundred
metres to brake to a stop from 70 m. p. h. ? Drivers also seem to think that motorway
driving gives them complete immunity (% ) from the caprices (&%) of the weather.
However wet the road, whatever the visibility in mist or fog, they plough (§i47) at very
high speeds oblivious(JE#) of police warning or speed restrictions until their journey comes
to a premature conclusion.

Perhaps one remedy for this motorway madness would be better driver education. At
present, learner drivers are barred from motorways and are thus, as far as this kind of
driving is concerned, thrown in at the deep end. However, much more efficient policing is
required, for it is the duty of the police not only to enforce the law but also to protect the
general public from its own {olly.

36. Which of the following is NOT true?

A) Motorways have no sharp bends. B) Motorways have no roundabouts.

C) Motorways have no traffic lights. D) Motorways have no speed restriction.
37. This passage may lead us to infer that

A) there are much more accidents on ordinary roads

B) motorways are not the safest roads

C) in accidents, people are much more unlikely to be killed on motorways

D) people are more likely to be killed on motorways
38. Which of the following was NOT a reason for road accidents?

A) Drivers realize that it takes a car about a hundred metres to brake to a stop from 70

m. p. h.

B) Drivers drive very fast in mist or fog.

C) Drivers like travelling in convoys.

D) Drivers drive at ludicrous speeds.

39. The drivers’ attitude toward the weatheris

A) pessimistic B)optimistic Q) careless D) serious
40. The ways to deal with motorway madness may be

A) better driver education

.8



B) learner drivers are barred from motorways
C) more efficient policing is required

I\)/) all of them
Part 1 Vocabulary and Structure

Directions : There are 30 incomplete sentences in this part. For each sentence there are four

choices marked A),B),C) and D). Choose the ONE answer that best com pletes

the sentence.

41. Some physicists have considered the possibility that, under certain __, time
might flow backward.
A) cases B) positions * C) circumstances D) situations
42. The discussion two topics.
A) brought out B)turned on + C) revolved around D) got over’
43. She _ to the manager  the poor quality of the radio.
A) provided. .. for *+B) complained. . . of
C) argued. . . about D) regarded. . . as
44. She was the top prize in the competition.
*A) awarded B) rewarded C) received D) accepted
45. His failure to pay the debts the suspicion that he was not to be trusted. -1
A) concerns B) confesses C) confuses * D) confirms N
46. _ good health, James is sure to finish the work in a covuple of months.
A) Possessing B) Considered C) Giving * D) Given

47. Environmental engineers develop equipment to measure pollution levels and

experiments to determine the effects of various kinds of pollutants.

A) behave *B) conduct C) design D) guide
48. They _ him for a brief account of the matter.
{\) called on B) called for C) called off D) called up
49. The problem will be discussed at lengthin  chapters.
A) subsequent B) final C) late D) consequent
50. "f(he individuals most likely to suicide are those who have on previous

occasions thought about it, or attempted it.

s+ A) commit B) make C) offend D) perform

51. Differences in physical development are :_7,‘&7 during the early teen-age years.
A) evident B) clear »(C) obvious D) apparent

52. Tt is not considered to litter in public.
A) respective B) respected (‘) respectful ? D) respectable

53. As coal burns, it produces useful energy in the form of heat. People use this heat to
warm buildings and to make or _various products.

A) clean » » B)sprocess C) wash D) dry



54. By the mid-1820’s, an incoming President would ___a large number of

government workers originally hired by the opposition party and replace them with

members of his own party.

A) refuse * B) dismiss C) eliminate D) discard
55. Professor Jonesis 1o give us a lecture on the internet tomorrow.
A) used B) engaged C) owing * D) due
56. The reporter claimed that the information came [roma source.
*A) reliable B) confident C) sure D) believable
57. A blow to the head may cause __unconsciousness without permanent damage.
A) contemporary  B) temperate () consistent « D) temporary
58. Thenoise 1o be just the cat scratching the window. .
A) turned in B) turned over C) turned out D) turned up
59. the U. S. superiority at that times it was probable that any threatened U. S.

response would have deterred the Soviet Union.

A) I B) Given C) Although D) Since
60.  that the jewels had been in the bank all the time.

A) Tt is turned out o B) Tt turned out

C) Tt was turned out ) Tt turns out

61. Sitting around the fire,
A) mystery stories were told by cach of us

[3) cach of us told mystery stories

C) there were told mystery stories by cach of us
D) stories of mystery were told by all of us

62. ___in all parts of the state, pines are the most common trees in Georgia.

A) Found B) Finding them C) To find them D) They arc found
63. In the 1850’s Harriet Beecher Stowe’s “Uncle Tom’s Cabin” became the best seller of
the generation, a host of imitators.
« A) inspiring B) inspired C) inspired by D) to inspire
64. left before the deadline, it doesn’t seem likely that John will accomplish the
job.
A) Although such a short time B) It is such a short time
C) With so short time D) With such a short time
65. “I like your house very much. ”
“Thank you, but this house is
A) badly in need of paint B) bad in need of painting
C) badly in needing of paint D) badly in need of painting
66. “Do you want some more bread?” ‘

"No thanks, .7
. 10 .



